
� No.253P約両方-10-1 �

No.253P約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 445.7÷ 5.1 (2) 4481÷ 8.2

(3) 166.5÷ 9.2 (4) 169.5÷ 3.1

(5) 10.93÷ 1.9 (6) 5272÷ 5.4

(7) 827÷ 5.1 (8) 103.6÷ 2.9

(9) 4953÷ 6.9 (10) 56.94÷ 6.1

� 13th-note �



� No.253P約両方-10-1 �

No.253P約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 445.7÷ 5.1
87
87.3 · · ·

(2) 4481÷ 8.2
550
546 · · ·

(3) 166.5÷ 9.2
18
18.0 · · ·

(4) 169.5÷ 3.1
55
54.6 · · ·

(5) 10.93÷ 1.9
5.8
5.75 · · ·

(6) 5272÷ 5.4
980
976 · · ·

(7) 827÷ 5.1
160
162 · · ·

(8) 103.6÷ 2.9
36
35.7 · · ·

(9) 4953÷ 6.9
720
717 · · ·

(10) 56.94÷ 6.1
9.3
9.33 · · ·

� 13th-note �



� No.253P約両方-10-2 �

No.253P約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 2÷ 1.1 (2) 2396÷ 3.9

(3) 41.91÷ 9.3 (4) 448÷ 1.1

(5) 882.1÷ 9.8 (6) 10.77÷ 6.9

(7) 284.9÷ 4.1 (8) 484÷ 9.1

(9) 65.82÷ 6.7 (10) 771÷ 8.2

� 13th-note �



� No.253P約両方-10-2 �

No.253P約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 2÷ 1.1
1.8
1.81 · · ·

(2) 2396÷ 3.9
610
614 · · ·

(3) 41.91÷ 9.3
4.5
4.50 · · ·

(4) 448÷ 1.1
410
407 · · ·

(5) 882.1÷ 9.8
90
90.0 · · ·

(6) 10.77÷ 6.9
1.6
1.56 · · ·

(7) 284.9÷ 4.1
69
69.4 · · ·

(8) 484÷ 9.1
53
53.1 · · ·

(9) 65.82÷ 6.7
9.8
9.82 · · ·

(10) 771÷ 8.2
94
94.0 · · ·

� 13th-note �



� No.253P約両方-10-3 �

No.253P約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 2700÷ 8.2 (2) 371.5÷ 6.9

(3) 119.2÷ 4.2 (4) 44.12÷ 8.2

(5) 5469÷ 9.7 (6) 1300÷ 2.7

(7) 263.5÷ 4.8 (8) 44.65÷ 7.8

(9) 6.08÷ 5.4 (10) 87.18÷ 9.9

� 13th-note �



� No.253P約両方-10-3 �

No.253P約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 2700÷ 8.2
330
329 · · ·

(2) 371.5÷ 6.9
54
53.8 · · ·

(3) 119.2÷ 4.2
28
28.3 · · ·

(4) 44.12÷ 8.2
5.4
5.38 · · ·

(5) 5469÷ 9.7
560
563 · · ·

(6) 1300÷ 2.7
480
481 · · ·

(7) 263.5÷ 4.8
55
54.8 · · ·

(8) 44.65÷ 7.8
5.7
5.72 · · ·

(9) 6.08÷ 5.4
1.1
1.12 · · ·

(10) 87.18÷ 9.9
8.8
8.80 · · ·

� 13th-note �



� No.253P約両方-10-4 �

No.253P約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 5982÷ 9.9 (2) 770.4÷ 7.9

(3) 520.7÷ 6.3 (4) 4022÷ 7.4

(5) 5862÷ 6.1 (6) 927÷ 2.9

(7) 5808÷ 6.2 (8) 1371÷ 8.1

(9) 6634÷ 8.8 (10) 6376÷ 7.3

� 13th-note �



� No.253P約両方-10-4 �

No.253P約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 5982÷ 9.9
600
604 · · ·

(2) 770.4÷ 7.9
98
97.5 · · ·

(3) 520.7÷ 6.3
83
82.6 · · ·

(4) 4022÷ 7.4
540
543 · · ·

(5) 5862÷ 6.1
960
960 · · ·

(6) 927÷ 2.9
320
319 · · ·

(7) 5808÷ 6.2
940
936 · · ·

(8) 1371÷ 8.1
170
169 · · ·

(9) 6634÷ 8.8
750
753 · · ·

(10) 6376÷ 7.3
870
873 · · ·

� 13th-note �



� No.253P約両方-10-5 �

No.253P約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 169.8÷ 4.7 (2) 5.48÷ 2.1

(3) 301.2÷ 3.8 (4) 38.21÷ 8.2

(5) 5.55÷ 1.4 (6) 292.3÷ 6.1

(7) 355.6÷ 5.8 (8) 228÷ 6.2

(9) 78.6÷ 2.4 (10) 61.9÷ 4.3

� 13th-note �



� No.253P約両方-10-5 �

No.253P約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 169.8÷ 4.7
36
36.1 · · ·

(2) 5.48÷ 2.1
2.6
2.60 · · ·

(3) 301.2÷ 3.8
79
79.2 · · ·

(4) 38.21÷ 8.2
4.7
4.65 · · ·

(5) 5.55÷ 1.4
4.0
3.96 · · ·

(6) 292.3÷ 6.1
48
47.9 · · ·

(7) 355.6÷ 5.8
61
61.3 · · ·

(8) 228÷ 6.2
37
36.7 · · ·

(9) 78.6÷ 2.4
33
32.7 · · ·

(10) 61.9÷ 4.3
14
14.3 · · ·

� 13th-note �



� No.253P約両方-10-6 �

No.253P約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 4226÷ 5.4 (2) 37.6÷ 4.2

(3) 601.6÷ 8.6 (4) 30.99÷ 3.9

(5) 67.78÷ 9.4 (6) 16.82÷ 7.2

(7) 1183÷ 4.7 (8) 139÷ 4.9

(9) 142.9÷ 2.9 (10) 23.61÷ 3.8

� 13th-note �



� No.253P約両方-10-6 �

No.253P約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 4226÷ 5.4
780
782 · · ·

(2) 37.6÷ 4.2
9.0
8.95 · · ·

(3) 601.6÷ 8.6
70
69.9 · · ·

(4) 30.99÷ 3.9
7.9
7.94 · · ·

(5) 67.78÷ 9.4
7.2
7.21 · · ·

(6) 16.82÷ 7.2
2.3
2.33 · · ·

(7) 1183÷ 4.7
250
251 · · ·

(8) 139÷ 4.9
28
28.3 · · ·

(9) 142.9÷ 2.9
49
49.2 · · ·

(10) 23.61÷ 3.8
6.2
6.21 · · ·

� 13th-note �



� No.253P約両方-10-7 �

No.253P約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 43.33÷ 7.9 (2) 217.3÷ 2.4

(3) 604.1÷ 6.2 (4) 1845÷ 4.4

(5) 111.5÷ 2.1 (6) 439.4÷ 9.3

(7) 5699÷ 9.8 (8) 4384÷ 7.2

(9) 1633÷ 3.4 (10) 5522÷ 8.1

� 13th-note �



� No.253P約両方-10-7 �

No.253P約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 43.33÷ 7.9
5.5
5.48 · · ·

(2) 217.3÷ 2.4
91
90.5 · · ·

(3) 604.1÷ 6.2
97
97.4 · · ·

(4) 1845÷ 4.4
420
419 · · ·

(5) 111.5÷ 2.1
53
53.0 · · ·

(6) 439.4÷ 9.3
47
47.2 · · ·

(7) 5699÷ 9.8
580
581 · · ·

(8) 4384÷ 7.2
610
608 · · ·

(9) 1633÷ 3.4
480
480 · · ·

(10) 5522÷ 8.1
680
681 · · ·

� 13th-note �



� No.253P約両方-10-8 �

No.253P約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 144.4÷ 9.9 (2) 17.7÷ 1.1

(3) 396.3÷ 5.1 (4) 7.75÷ 5.7

(5) 61.82÷ 8.8 (6) 2728÷ 4.8

(7) 2271÷ 6.3 (8) 273.8÷ 8.4

(9) 59.4÷ 5.6 (10) 8.94÷ 3.1

� 13th-note �



� No.253P約両方-10-8 �

No.253P約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 144.4÷ 9.9
15
14.5 · · ·

(2) 17.7÷ 1.1
16
16.0 · · ·

(3) 396.3÷ 5.1
78
77.7 · · ·

(4) 7.75÷ 5.7
1.4
1.35 · · ·

(5) 61.82÷ 8.8
7.0
7.02 · · ·

(6) 2728÷ 4.8
570
568 · · ·

(7) 2271÷ 6.3
360
360 · · ·

(8) 273.8÷ 8.4
33
32.5 · · ·

(9) 59.4÷ 5.6
11
10.6 · · ·

(10) 8.94÷ 3.1
2.9
2.88 · · ·

� 13th-note �



� No.253P約両方-10-9 �

No.253P約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 8.5÷ 5.4 (2) 17.12÷ 2.7

(3) 43.11÷ 4.8 (4) 90.2÷ 1.8

(5) 11.81÷ 9.4 (6) 53.87÷ 7.6

(7) 72.82÷ 8.7 (8) 80.62÷ 8.4

(9) 24.52÷ 6.3 (10) 664÷ 5.2

� 13th-note �



� No.253P約両方-10-9 �

No.253P約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 8.5÷ 5.4
1.6
1.57 · · ·

(2) 17.12÷ 2.7
6.3
6.34 · · ·

(3) 43.11÷ 4.8
9.0
8.98 · · ·

(4) 90.2÷ 1.8
50
50.1 · · ·

(5) 11.81÷ 9.4
1.3
1.25 · · ·

(6) 53.87÷ 7.6
7.1
7.08 · · ·

(7) 72.82÷ 8.7
8.4
8.37 · · ·

(8) 80.62÷ 8.4
9.6
9.59 · · ·

(9) 24.52÷ 6.3
3.9
3.89 · · ·

(10) 664÷ 5.2
130
127 · · ·

� 13th-note �



� No.253P約両方-10-10 �

No.253P約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 60.01÷ 9.8 (2) 157.1÷ 1.9

(3) 113.6÷ 4.1 (4) 202.7÷ 9.6

(5) 1628÷ 6.2 (6) 13.02÷ 7.6

(7) 9.8÷ 6.8 (8) 139.9÷ 5.1

(9) 5443÷ 7.3 (10) 48.66÷ 9.7

� 13th-note �



� No.253P約両方-10-10 �

No.253P約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 60.01÷ 9.8
6.1
6.12 · · ·

(2) 157.1÷ 1.9
83
82.6 · · ·

(3) 113.6÷ 4.1
28
27.7 · · ·

(4) 202.7÷ 9.6
21
21.1 · · ·

(5) 1628÷ 6.2
260
262 · · ·

(6) 13.02÷ 7.6
1.7
1.71 · · ·

(7) 9.8÷ 6.8
1.4
1.44 · · ·

(8) 139.9÷ 5.1
27
27.4 · · ·

(9) 5443÷ 7.3
750
745 · · ·

(10) 48.66÷ 9.7
5.0
5.01 · · ·

� 13th-note �


